H & 0l & AHS B Ml A

e A3 xd
SEH HOIE XM EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
=2t 119,540,668 113,348,964 6,191,704
= 300,000
== 37,500
Al 119,203, 168
st TAgE xR 113,776,864 108,003,759 5,773,105
= 300,000
< 37,500
Al 113,439, 364
sEBA o2 Ml 99,788,781 93,994,262 5,794,519
HEHDIZ Mel2g 76,881,213 73,478,712 3,402,501
201 er23 | 86,652 78,107 8,545
01 At2teltl 64,207 54,495 9,712
OFa2dy S8 20,000,000& 20,000
OUXNEAIIE SHMSE tis?IEtl
3,630 +1,6004 5,808
OREAl MeDI2HoiE A2zl 3lol&
o =g 100,000 *11&E 23] 2,200
OXGDISHNSE ST AIABRXH
987,200 *4=2 | 3,949
OFAXE ZMAIAEY OlE=
10,0003 *1750H« 122 21,000
OBHSI| HIIB K2l 448
450,000& x25= 11,250
02 S5=2g4l 22,445 23,612 A1,167
OXt& = All 19,445
— K-S A 140
SSIHIE) 50,0003 »1CH 50
SeEHEE) 60,0002 1CH 60
SIEIHRIEAE) 30,0002 *1CH 30
—SFNERES 150
ELSPNICIISEN=) 150,000 *1CH 150
—=28= 6,700
SEIHIE) 250,000 *1CH 250
SEIHEE) 300,000« 1CH 300
-SIEAHEE, HAY =H)
1,500,000 *2CH 3,000
- SIEHASLE) 350,000 *1CH 350
- SIEXHASUHE) 2,800,000 1CH 2,800
—F&l 7,95
SEIHZE) 1,588 *70L+10H* 122 1,334
SEIHSE)
1,491& 110104~ 128 1,969
SESRHEE, HOME =)
1,491 % 13020« 12 4,652




2A:

I FEE DAEExd
ol EEA HIIE Xel EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—Z=clH| 4,500
SEIHIE) 900,000 1CH 900
SEIHSE) 900,000 *1CH 900
FSEXHE, HIHE 291)
1,350,000 «2CH 2,700
Ost=HJI=gal Halt| 3,000,000& 3,000
203 HR=AH] 2,044 2,920 N\BT76
03 A= LR F&IH| 2,044 2,920 A876
Ox4 U UALs P2z
2,920,000&+0.7 2,044
206 M=l 2,085,271 2,115,312 /30,041
01 M= HI 2,085,271 2,115,312 230,041
OXed| SHHSE M= 2,085,271
—2eE 1,005,189
-5 36.97&1,700,0000H 62,849
- 10¢ 44.212+3,400,0000H 150,314
- 208 63.73&*3,600,0000H 229,428
-850 ¢ 158.61& *1,400,0000HK 222,054
<754 212.84%+1,600,0000H 340,544
— AL 538,246
-10¢ 47.22°3 %1,800,0000H 84,996
<208 64.75& 7,000,0000H 453,250
—=AM 54,006
- 10¢ 2733 22,0000 6,006
+30¢ 4003 %120, 0000k 48,000
—583& 64,970
504 1493 %70,0000H 10,430
754 202 *270,0000H4 54,540
—SHES 422,860
12 19.021&#4,700,0000H 89,399
<24 24.021&+5,600,0000H 134,518
- 34 26.021&+3,000,0000HK 78,063
-5 36.97&1,300,0000H 48,061
<102 44 212 %450,0000H 19,895
- 208 63.73&x700,0000H 44,611
=308 92.36&+90,0000H 8,313
207 ARl 66,000 66,000
01 H1E4H] 66,000 66,000
OdgHll= =& - 28 HeHEH d&0I
g g9 22,000,000& 22,000
OdZHIIZ +=8 - 2 L& |0t A4FE
B 22,000,000 22,000




2A:

B mAS CABALA
oels EEEA HolE Xl (CHol: &S1)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
ONRzsaea +a o7 Y
22,000,000& 22,000
301 EtE2 NS 1,500 2,000 A500
14 0Bt 2a=S 1,500 2,000 A500
OfIx XD SENSTE B d=
1,500,000& 1,500
303 Zal= 1,500 3,400 1,900
01 Z&= 1,500 3,400 A1,900
OF220F 2= S 8t Al 1,500
—x|2= 700,000 x10H= 700
— 2= 500,000 *1HS 500
—&d 300,000 x10H= 300
307 212+01& 68,489, 105 64,859,493 3,629,612
05 2ItRIE = 68,489,105 64,859,493 3,629,612
Od&HDlIZ =& - 28t S &yl 66,807,805
—UUMEM D] S - 28 Cfay|
16,905,268,000& 16,905,268
~TMEEE 43 - 20 o)
17,765,151,000& 17,765,151
—SA2E 27 - 28 (Y|
12,627,231,000& 12,627,231
—UHEHDIE =& - 28 el
6,931,564,000& 6,931,564
—JtE2F A el 7,146,079,000& 7,146,079
—=SZ &4 "l 5,432,512,000& 5,432,512
o218 M Hol=E Xl
30,000,000& 30,000
OdgHII= e 25 & Xclbl 1,651,300
—LEEMDI(SHET Z8) HEX 25t
23,5002 %41,000& 963,500
—EtM D] elZtA2r Xeld|
260,000 *2,500& 650,000
—4g Edls & 25
30,0002 +600= 18,000
—< Edist XMeldl 33,0002 600 19,800
308 AtXIEHMSOIE 6,149,141 6,350,080 200,939
07 AXEH2LFE= 5,141,603 5,366,199 N224,5%6
OQEINS AdledY F8=
714,609,879&%20. 5% 146,496
O=CdHEXN d2H)|I= gt === 4,995,107
—gerg 116,855%%35,0002 4,089,925
—CAHEX BHYSE 202 JHtsS(d
EH) 117,556& 7, 700& 905,182
13 SI12S0He 4 A AS A 1,007,538 983,881 23,657
OMYD| SHMSE TN AFLHI(S AL
1,007,538,000& 1,007,538




A =2t
Hu: HAB CABALA
oels EEEA HolE Xl (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SSaa2A 76,300 56,500 19,800
201 er23 | 76,300 56,500 19,800
01 At2teltl 56,500 56,500 0
ouzbigstad K& & Al 56,500
—HoLES N
150,000& #3004 2=+ 123 54,000
—HNEHES S FAAL 257
2,500,000 2,500
02 S5=2g4l 19,800 0 19,800
OSSatad oo X2l
19,800,000& 19,800
HIIZ XMelAld 23 22,831,268 20,459,050 2,372,218
201 fet=23y| 6,112,391 5,357,266 755,125
01 AtR2te|HI 1,950 3,250 21,300
OAl&E Xg U #F2LX =) 4850
—xolz 10000024 %32 300
—xtey3t 50,00024%32 150
ORA=BUE B2 BRAZTA 24|
1,500,000 1,500
02 S3=gHl 6,110,441 5,354,016 756,425
Ol =8l =228 3= 4,828,000
—&JIe= 200,000,000 = 12& 2,400,000
—CAIIARS 105,000,000& «12& 1,260,000
—&ot=ER3 8.,000,000& *12& 96,000
—&EE=Xcldl 86,000,000 ~12& 1,032,000
—MHolIE=AERS 2,000,000 128 24,000
—WSRYFES 16,000,000 *13] 16,000
OmPIZX=2 f83 1,282,441
—MEHIIZS 0
15,0002 +44,000=+1.132 747,120
—MEHIIS A2
10,0002 %55,000&+0.4%1.132 249,040
—UHEHDIS Tt &=
10,00024+8,000=+0.4%1.132 36,224
—UEHDlie Hed&=
10,0003 *350=+1.132 3,962
—aZAIE 2 HDIE, S (EHY)
10,0002 *4,000&*1.132 45,280
—AZAIE 2M HOIZ2, EHS(OIHA)
25,0002 *10=+1.132 283
—MBT &= 10,0002 %7,000=+0.4%1.132 31,6%
—S42HJI= MelAE &lE
10,0003 +8,500&+0.4%1.132 38,488
—NESHEY =dd M=
15,000& *1,300&*1.132 22,074




z =
Se, dea o A (el mg)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
— B 15,0003 *x250E+1.132 4,245
—HI&EA 10,00024+3,000=+0.4%1.132 13,584
—SAFUEHIIZS 0HE (2019~2021)
15,000&+5,919& 88,785
—SAEMEHIIS A2H(2019-2021)
10,0002 *166= 1,660
203 HE=H] 1,701 2,430 AT29
03 A= HRFAI| 1,701 2,430 AT
OHPIZ XMelAE 28 g2
2,430,000&+0.7 1,701
307 @12t0| & 16,717,176 15,099,354 1,617,822
05 git?(& = 16,717,176 15,099,3%4 1,617,822
OXE =gy 2I2t9IE 23 16,717,176
—aZAlE 23| 913,955,080« 12& 10,967,461
—MBTAIE 2&H| 250,818,910& ~12& 3,117,827
—SASHEIAE 2|
92,420,080« 123 1,109,041
—HEHDISH2E 23]
126,903,910« 12& 1,522,847
AH2HEZ =2tHH 435t 8,580, 111 8,286,305 293,806
SEHC WSS 2cliiE 8435t 195,718 276,563 80,845
201 er23 | 80,848 112,063 A31,215
01 At2teltl 80,848 112,063 A31,215
OHIE =cl - dE MY AANES 28 848
—&gs 100,000 x2&H 200
—&gst 50,0003 *2& 100
—get=s 50,0003 *2& 100
—QtA )| 15,000 2 30
- 3002 x3&* 1201+ 122 130
—0tA3 2,0003 *3 *4)lix 12 288
OXtE =gt Al2loja) sats P8t 82 €5 20,000
—HE =1 2432 7Y
5,000,000 *42] 20,000
OXE Nges & 18183 £01J| Sgus
29 60,000
—o MEH L Y 10,000,000& 10,000
—ZA==g 160,000 x1&H %1253 20,000
—BXRAE 120,000 x2Z %1253 30,000
206 M=l 114,270 163,300 249,030
01 MZH| 114,270 163,300 A\49,030
OoMgss 2cl=A &J| M& € 72 114,270
—HEEE 2cl=HU
400,000 »1000H 40,000




SN TREE D

Hu: E

el IP-‘SXH%% S=ESHA 2ot (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
—MEES =HE =Y
3,600&#5, 100H 18,360
—HIE] ZFMW =HE S&
2703 *14,00001~ 122 45,360
—HAEX =HE 77,0003 *70K 5,390
—HEg&Zs =g 66,0002 *35H 2,310
—MEES AXIE LE
50,000 *7H 350
—301H =1 25,000 100K 2,500
301 22N = 600 1,200 A600
14 JIEt2 8= 600 1,200 2600
OoExJI2s=s 0k AN2HN 2o
50,000 1A * 122 600
Hes 88y 29 8,345,193 7,938,942 406,251
201 Ler23| 129,600 146,000 216,400
2 s5=34l 129,600 144,000 14,400
oNgEss 28 ANE=A| 129,600
—NMEES J8& AMEFAI
108,000,000 108,000
—SUMol olgs ?Igt ==48] uAl, 2
& 21,600,000 21,600
307 elztol & 7,9%7,669 7,373,818 593,851
05 212t S 7,967,669 7,373,818 593,851
OoNgEs=s dEF 2228
5,778,300,000& 5,778,300
OMgEs = el & 25|
L0793 +600E+12E 2,189,369
308 XXM SOIA 177,924 177,924
07 AXEH L= 177,924 177,924
ONMEES & ME HEX Y ===
48,2703 «100E+ 122 177,924
405 KHoHF S| 70,000 219,200 149,200
01 ML ESFSHI 70,000 219,200 149,200
oNgss 28 AR
70,000,000 70,000
HEMY I BHE23 HEAY 17,200 37,800 /20,600
201 =3 17,200 12,800 4,400
01 AtR2t2lt] 17,200 12,800 4,400
O =&l Mt 29 17,200
—39 F4x=E 100,000& x4 & *13] 400
—2ZEIt HA=E
100, 0002 4 & »23] 800
— NS E2E X2 16,000,000& 16,000
OLOIAT =% Al 2 22,000 33,000 11,000
201 Ler23 | 22,000 33,000 211,000




= E-‘SXH%% TEHIH 2Ast (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 22,000 33,000 A11,000
OO0 AR =2t At =&
22,000,000& 22,000
HEHDI2 2el 320,310 749,060 N428,750
HEHDIZ =H € Xel 314,760 743,060 A\434,300
201 ger=3| 1,000 6,500 A5,500
01 AtR2te|H] 1,000 6,500 25,500
OHLER U2 M d8 =28
1,000,000& 1,000
202 04l 360 360
01 =LHolb 360 360
22X ALEFOHY|
30,0002 x 1~ 122 360
307 el2to| & 313,400 742,200 A\428,800
05 212+ =S 313,400 742,200 A\428,800
OUgHII= H=M #& Xclsl
67,0003 *800E+12&*1/3 214,400
OUEHDIZ Hadd= S &= /S X
cltl 330,000 x25&+12& 99,000
UEHDI2 s JdDZE MA(20I) 3,000 3,000
201 Ler23| 3,000 3,000
01 At2teltl 3,000 3,000
OUEHII=Z tHE IS HE
1502 +1,00001*200H = 3,000
CHEHDIZS HE AIDES MA (LA 1,500 1,500
201 fet=3| 1,500 1,500
01 AtR2t2|HI 1,500 1,500
OUgHII= e AIES MH
150&+1,0000H* 1004 S 1,500
HEHDI2 e ADNES MAH(2F) 1,050 1,050
201 er23 | 1,050 1,050
01 At2teltl 1,050 1,050
OUEHDIZ e A DES M
1502 +1,0000H+7IH = 1,050
SAESF HII= =HMe2 3E 2 I E 3,636,901 4,182,389 A545,488
SHEF HIIE2 =4 € Xel 3,636,901 4,182,389 A\545,488
201 fer= 3| 615,258 643,221 N27,963
01 At 2|l 537,958 598,721 260,763
OSA=FHII= 24A9M S8t 2133
o 100,000 8 =12 800
OsASRHDIS(E+=E3)Xel 82 &=+
== 2,981,642,67021%0.56% 16,698
ORFID JIgt SA=SSEI| &Rl
520,460,000 520,460
02 s3=gHl 77,300 44,500 32,800




A =2t
Hu: HAB CABALA
ool SAI2E HDIZ AXTeIS RE Y [ (el mel)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OSASFHDIZ FFIDED| RX2el]
77,300,000& 77,300
206 M=l 40,000 74,000 /34,000
01 M=4l 40,000 74,000 A34,000
OSAEFHIIZ =HEI| 7Y 40,000
—2& #31871(512)
11,0002 %2,0007H 22,000
—2F $31871(1204)
60,0002 *300H 18,000
307 el2to| & 2,981,643 3,465,168 N\483,525
05 212t =S 2,981,643 3,465,168 A\483,525
OSAlSFHII2(E+3) XMeldl
194,130 %15,359& 2,981,643
Ret Helgd =8 1,450,761 791,743 659,018
= 300,000
= 37,500
Al 1,113,261
otz ey FA(00) 64,106 64,106
201 fer=3| 58,106 58,106
01 At 22|l 20,830 20,830
OZ0IsHd ol 2l
250,000 *30H A 750
ONzF2E =3784|
100,000& %19 1,900
Odil=ztd WaE o Z5d|
50,0002 x4 200
O=2FA 2R W= 460
—&gs 100,000& 2 200
— &gt 50,0002 =2 100
—&sts 80,0002 2 160
OetZ0lstad LI=Hl 17,520
—&g2 10,0002« 12 120
— 22 10,0002« 12 120
—&st 20,0003 * 12 240
—&gst 50,0002 12 600
—gst2 10,0002« 12 120
—&etat 70,000& *12H 840
—getEy 20,0003 %129 240
—0tA3 2,000 +25E+20 0 12 12,000
—HEY 3002 *x25Z 10~ 123 900
— 22 15,0003 *12& 180
—&gs 100,000& « 12 1,200
—&sts 80,000 12 960
02 S3=gHl 37,276 0 37,276




2A:

Hu: HAB CABALH
el JHRst Helgd x4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OgZ0Ist A 2323 33,800
—&l= 100,000 *37H A% 122 3,600
—afote= 50,0003 »20H A+ 123 1,200
—tAR=E 1,100,0002 19K A 1,100
—MHol2+ AZ2R23 (&1}
155,000 *15CH* 122 27,900
Otdil=ta ¢ty =X F74l
1,745 +80L*1CH* 122 1,676
OetZ0lstd A =X & HH==
Hl 200,000 *3)4 A3 1,800
401 Al HIZL 201 6,000 6,000
01 Al&H| 6,000 6,000
Ods izt tla AlE Jid
6,000,000& 6,000
Nz e (LA 15,475 15,475
01 eS| 16,475 15,475
01 AtR2t2|HI 11,399 11,399
OstZ0lsta Tl 2l
250,000 *10H A 250
Ot2848 =357
100,000 «9& 900
Otdil=ta IaE o 85|
50,0002 x2&H 100
OkzFa 22N U=H| 230
—&gs 100,000 *1& 100
— &3t 50,000 *1& 50
—&sts 80,0003 %1 80
Oet&0lstad L=l 9,919
— g2 10,0003 *7& 70
—<29| 10,0008 +7% 70
—&st 20,0003 *7d 140
—&gst 50,0003 +74 350
— et 10,000 +7& 70
—&etst 70,0002 +74 490
—detay 20,0003 *7& 140
—0tA3 2,000+ 142 +200 122 6,720
—dyz 300+ 14 * 100 12 504
— 27| 15,0002 +7& 105
—&gs 100,000& +7& 700
—gets 80,0003 *7d 560
2 s5=34l 4,076 4,076
OggZ0Istd A 338= 1,800
-z 100,000& * 104 A+ 128 1,200
—&ol=E 50,0003 104 2=+ 12 600




2A:

Hu: HAB CABALH
el JHRst Helgd x4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Osdil=td ¢ty =& F7H|
1,745 +80L*1CH* 12 1,676
OetZ0lstd A =X & HeR=
] 200,000 * 104 A3 600
2 EE A (LE) 29,774 29,774
201 2= 29,774 29,774
01 At22t2lt] 10,878 10,878
OZ0IsHd ol 2l
250,000 x20H 2 500
O}2EAE 2B
100,000 8 800
OstZ0lstd eSS o ZS|
50,0002 x2&H 100
OkzdA 22X LI=H| 460
—&gs 100,000 x2&H 200
—&est 50,0002 «2& 100
—&et=s 80,000& *2& 160
OZ0Ist 1I=bl 9,018
—&g2 10,000 +6& 60
— 22 10,0003 +64 60
—&st 20,0002 64 120
—&gst 50,0003 +6& 300
—gst2 10,0003 +6& 60
—&etat 70,0002 +6% 420
—getEy 20,0002 64 120
—0tA3 2,0002x132*201* 122 6,240
- 3002 %13 * 101~ 123 468
)] 15,0002 %62 %
—=oie 100, 0002562 600
— sl 80, 000262 480
02 S3=gHl 18,8%6 18,8%6
OZ0Istd oA 233 16,020
-z 100,000 x204 2% 123 2,400
—&fote=E 50,0002 10 A 123 600
—THOIE AIZERS(&==1})
155,000 *7CH* 12 13,020
OtZ0lsta Bt =& *RF|
1,745 +80Lx10H 128 1,676
OZ0Istd A =2l & HHR:
] 200,000 »2) A +32 1,200
Haxrarzel(&00) 271,572 271,572
201 eer23| 21,372 21,372
01 AtR2t2|HI 57,072 57,072
OFaxtg =572l 52,500




A AE=gt

Hu: HAB CABALH
Chel: JHREE HelEd =4 EER=E)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
—SLEHA 250,000 * 16 CH+5& 7,500
—=EHEHA 150, 0002 *5H*6CH* 102 45,000
OMSIIX(HEE) 2ol
260,000& =123 3,120
OFEAXE ZHAIAE AXt=
12, 100&*10CH~ 122 1,452
02 32| 214,300 0 214,300
ONBLRHFAR U M43t BEE
2,100,000 = 13CH 27,300
OXBLEHEAI & a=Xt 7|
17,000,000 = 11CH 187,000
301 LetENEZ 200 0 200
14 JIEt2 43 200 0 200
Ona==x2d0 HE LiEa=z
100,000 »2CH 200
HARTEF22 (AAF) 153,572 0 153,572
201 etz d 153,372 153,372
01 A2 36,672 36,672
OF LIS 25| 35,000
—S2LEHAI 250,000 x 1 *4CH+5H 5,000
—=SHEHA 150, 0003 50 *4CH*10E 30,000
OFEAXE ZHAAE AXt=
12,1002 601+ 12& 872
OXEMZ 018 === 800,000 «1CH 800
2 S=29| 116,700 116,700
ORNSLHFAX & Xt B2
2,100,000& *7CH 14,700
OXNBEHAHEAI & =Xt KX
17,000,000 +6CH 102,000
301 LPENZ 200 200
14 JIEI2 &3 200 200
Olgad=X2Z0 HE mioi2a=s
100, 000-& *2CH 200
e (L) 191,262 191,262
201 B2 AL| 191,062 191,062
01 AtR2eltl 36,162 36,162
O&EAXE 257 35,000
—SLEHAI 250,000 x 14 CH+5& 5,000
—=EHEHA 150, 0002 5 x4 CH+ 10 30,000
OFaXE Z2MAIAE AX=
12,1002 +8CH+ 123 1,162
2 2232Y 154,900 154,900
ORSLHIAX & oIt B2
2,100,000 *9CH 18,900




2A:

Hu: HAB CABALH
Chel: JHREE HelEd =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OMSsHEAT & &+X KA
17,000, 000 =8CH 136,000
301 EtE2 NS 200 200
14 0Bt 2a=S 200 200
Olnga=2d0 HE Woi2a=
100,000 *2CH 200
OIMIHA RAE aXt X XA (HEA)( 50,000 50,000
201)
S 15,000
Al 35,000
201 er23| 50,000 50,000
= 15,000
Al 35,000
01 AtR2t2|HI 50,000 50,000
OUIHIEXl MAHE &It &XSAY|
500, 0002 «2CH*50 50,000
s 15,000
Al 35,000
OB HAHE A=X dXED KIAS (HEA)( 25,000 25,000
A
= 7,500
Al 17,500
201 Ler23| 25,000 25,000
= 7,500
Al 17,500
01 AtR2t2|HI 25,000 25,000
ODIMIEAl MAHE &It &XSAYI
500, 0002 «1CH*50 25,000
== 7,500
Al 17,500
OIMIEX HHE =X LXED KAAS (HEA)( 50,000 50,000
2%)
= 15,000
Al 35,000
201 er2 3| 50,000 50,000
= 15,000
Al 35,000
01 AtR2t2|HI 50,000 50,000
ODIHIEXl MAHE &It &XSAYI
500, 0002 «2CH*50 50,000
== 15,000
Al 35,000
C2THHIASHR M2 AP (AL 300,000 300,000
= 150,000
Al 150,000




2A:

Hu: HAB CABALH
Chel: JHREE HelEd =4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
405 AHaHE = 300,000 0 300,000
= 150,000
Al 150,000
01 ML ESFSHI 300,000 0 300,000
OMEHEAL 28
300,000,000& *1CH 300,000
= 150,000
Al 150,000
C2THIASHA M2 M (2F) 300,000 0 300,000
= 150,000
Al 150,000
405 AHaHE = 300,000 0 300,000
= 150,000
Al 150,000
01 MMM ESFSHI 300,000 0 300,000
OME-HEAI} 28
300,000,0002 *1CH 300,000
= 150,000
Al 150,000
HY2AGHI(H@ =) 5,759,804 5,341,205 418,599
el 2| 5,705,859 5,229,191 476,668
olA2HHI(R0I) 2,679,584 0 2,679,584
101 @124H| 1,890,444 0 1,890,444
03 SRH(RINHA) 222+ 1,890,444 0 1,890,444
Ot&0lsta 22| 1,888,344
—Jl2=s 3,673,830 x5« 122 1,102,149
—IIE=E 23,280
- BH X 40,0003 x25E « 12 12,000
&l 20,0003 x25H 123 6,000
SR AHA 110,000 x4 x 122 5,280
—oizazsg
31,0202 x25E*40A| 2+ 123 372,240
—FY22sy
124,080 252 %2 52 x 12 93,060
—StE &I 165,440 x25FH x256 103,400
—HE3JHI 2,204,202 x25E <22 110,215
—ZHZAH 140,000 x25E «12& 42,000
-t DAL 140,000 x25E « 12 42,000
Osdll=td g8= 2U3| 2,100
—SZI ¥ FU3 200,000 3 600
—Fd= 500,000 *3H 1,500
WM H=sEE=S 789,140 789,140
4 BRA(RIHA)22N BEERES S 789,140 789,140




A =2t
M HAPAZH|(NHA=2)
chol: ol (19 @)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O&0lstd 2825 210,140
—=glo= 1,888,344,0002 *4. 5% 84,976
—=ZEAAEE 1,888,344, 000 +3.545% 66,942
—LIFIIRAEE
66,942,000 *12.81% 8,576
—NEES 1,888,344,000& *1.75% 33,047
— & HEE 1,888,344,000& 0.87% 16,599
OA0IEte EX=(3EHERA)
193,000,000 *3& 579,000
QIR AHH|(AA}) 1,143,798 1,143,798
101 e124d| 982,535 982,535
03 SR (RIHA) 222+ 982,535 982,535
Ozt 2| 981,835
—Jl2= 3,673,830 x13H 123 573,118
—JtE= 12,000
- B X 40,0002« 13+ 122 6,240
EHI= 20,0002 x13E~12& 3.120
POUPES 10,0008 2+ 123 2,640
—dydz2e+d
31,0203+ 13 *40A| 2+ 123 193,565
—RU2Rsy
124,080 132 *2 .52 x 122 48,392
— Q2 &I 165,440 x13H «25&! 53,768
—SEFHI 2,204,203 x13H 23] 57,312
—ZHIAHI 140,0002 +132+ 122 21,840
— ZAIIE| 140,000 1324 » 122 21,840
Odilztd EX= 2UE| 700
—3=2l ¥ FUAH 200,000 *1 200
242 500,000 1% 500
4 HASFEESS 161,263 161,263
M SRA(RIAHY) 22X BEERE=3 S 161,263 161,263
Oo=dllstd 2E8F8=s 109,263
—=0l= 981,835,000 4. 5% 44,183
—=0ALEE 981,835,000 +3.545% 34,807
— oI Ry
34,807,0002%12.81% 4,459
—1I=E2E 981,835,000 *1.75% 17,183
— & HEE 981,835,000 +0.87%% 8,631
O&dostd EX3(Z3HEH)
52,000,000& *1H 52,000
oIA2IHI(2F) 1,882,477 1,882,477
101 @12A4H| 943,694 943,694
03 SRH(RIH )22 U2+ 943,694 943,694
Oet&0lstad 212H] 941,594




SN KREE
M HYSAFH|(XHE=E)
chol: ol (ool )
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
=Jl=3 551,653
30|sHA 3,673,830& x 12123 529,032
eHI|=Skt 3,770,120& x 18«63 22,621
—IEY 12,000
- IS Xt 40,0003 =138+ 12& 6,240
=8I 20,0002 =138+ 12& 3,120
SUCE 10,0002 42 * 122 2,640
—oRARSY 182,370
0|52
31,0203 *12H x40A| 2H+12& 178,676
2HI|stt
30,7802 1Z+20A| 2H+6H 3,694
LR
124,080 * 128 +2 5« 12F 44,669
—GJI2 &t 53,736
SE0|3HA 165,4403 128 252 49,632
stZo|skt 164, 1602 1 H »25 4,104
—HEESIHI 55,166
sHA0I3HA 2,204,202 x12F »23| 52,903
IS8t 2,262,070& x1H *13] 2,263
—ZMZAlH| 140,0002 x 13 =123 21,840
— A AR 140,0002 x 12 =123 20,160
Ostdilesta B8 3 fi&E| 2,100
—32 & 23| 200,000 *3H 600
a3 500,000& *3H 1,500
N4 HA=REIS 933,783 938,783
M SRHE(PINHS) 22X B82882 S 938,783 938,783
Ostdilztd 28843 104,783
—=01012 941,504, 0002 4. 5% 42,372
— =01 941,504, 00021 %3 545% 33,380
— L OIR )| Qo
33,380,000 %12.81% 4,276
—1E28d 941,594,000 *1.75% 16,478
—AHHEE 41,594,000 *0.87%% 8,277
Ot&0Isd EXS(FHERN)
278,000,000 *3H 834,000
JI2&l 53,945 112,014 A58,069
J|1E23&| 53,945 112,014 A58,069
201 B2 AY| 23,859 44,334 AN20,475
01 AtR2telt] 22,584 42,672 A20,088
ORNM2II|I=22ZHI 19,872
— 2B~ H| 40,0003 *23H*128+0.8 8,832
—= 2l 50,0003 *23H *12& +0.8 11,040




SN KREE
. HY2IHH|(XHA=8)
Chel: J1=2 &l EEED
SA - B GR(31) - HIRAY - BES il &k e HlmS2
OFARIAH &2 226,000+ 128 2,712
02 S324Hl 1,275 1,662 N387
ORER3 1,275
—gBt 4302 %1002+ 123 516
= 2,5302 #2524+ 128 759
202 Ot 26,726 62,460 A35,734
01 =LHOILI 26,726 62,460 A35,734
OYRFXII=20|
120,0002 x23E 123 +0.8 26,4%
OZR% 2 283X NSE2 ¢l
230,000 1 230
203 LR =&H| 3,360 5,220 A 1,860
M FA2ILHRFAL 3,360 5,220 21,860
ORA2IHRFAH|
350,000& x12&+0.8 3,360
HRES (=) 4,000 4,000 0
SFSDNES 4,000 4,000 0
g2 (&0l) 2,000 0 2,000
802 gtet=JIE 2,000 0 2,000
03 JIEtEtEt= S 2,000 0 2,000
OUEHIIZ AHW(2HIY )M 2 8
2 2,000,000& 2,000
B2 (A A} 1,000 0 1,000
802 Btz J|EL 1,000 0 1,000
03 JIEtetet= S 1,000 0 1,000
OUEHDIZ HU(2HtY) MDD 225 8t
= 1,000,000& 1,000
e 2 () 1,000 0 1,000
802 gtet=JIE 1,000 0 1,000
03 J|EtEtEE S 1,000 0 1,000
OUEHIIZ AHW(2HIY ) D 2 8
= 1,000,000& 1,000




